PROFEX SZAKNYELVI VIZSGA vizsgazo sorszama:

B1 (alapfok) — angol nyelv
Szdbel

Beszédértés MINTATESZT

Oldja meg a két feladatlapot a hallott széveg aapjElérhed pontszam: 20 pont.

Figyelem! A vizsga akkor lehet sikeres, ha a vizégaszegységenként legalabb 40%-ot teljesit.
Vég® megoldasként csak a tintaval irt valtozatot fogadgl.
Kérjuk, hogy jol gondolja meg a vélaszat, mivelrbdyen valaszmaodositds esetén valasza érvénytelen.

FELADATLAP

1. sz6veg — feladatlap
I. A hallott szoveg alapjan egészitse ki a monadtddinden Ures helynél maximum Kett
szOt hasznalhat. Az étpéldaként megoldottuk. Elérlidgtontszdm: 5 pont

If you are suffering from(0) noise nuisance, this may be treated as a/ddi)

. If you cannot resolve the problem by speakinght® people

concerned, you can complain to the environmentadlthhedepartment of your2)

If the authority accepts the complaint(& , it can order that

the noise nuisance is stopped and not repeatdtke [ferson served with an abatement notice
does not(4) , or the court upholds the notice, they m{t

with the notice.

Il. Egészitse ki a tablazatot a hianyzé informakadlka hallott széveg alapjan helyenként
maximum kett szoval! Az et példaként megoldottuklérhet pontszam: 5 pont

Powers of local authorities to deal
(O) break into the vehicle

(1) the alarm

with noise nuisance from vehicle

alarms

Powers of local authorities to deal 2) the person responsible

with noise coming from licensed for the noise

premises at night
impose a/arf3) fine

(4) the person

responsible for the noise

seize thg5) making

the noise
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2. szOveq — feladatlap

I. A hallott sz6veg alapjan egészitse ki a monadatdlinden Ures helynél maximum Kett
sz0t hasznalhat. Az étpéldaként megoldottuk. Eléridgtontszam: 7 pont

0. Federal law prohibits discrimination based on an employee’él)

Many (2) also
prohibit it. If these beliefs are affecting the dayee’s (3) in
the workplace, such as their trying () other employees,

and are using their beliefs in a disruptive mantteen a/n(5)

in certain circumstances may be able to take digeify (6)

against that employee. However, you need t¢/he when

doing so.

II. A hallott sz6veg alapjan dontse el az allitagbkhogy igazakl) vagy hamisakH)! Az
elsst példaként megoldottuk. Elérldgiontszam: 3 pont

0. A company can read an employee’s e-mail messelgers that employee is using the
company’s internet, or the company computer.

1. Company policies offer advice to employers alvarting e-mails.

2. Companies always conduct random searches tegbiagainst employee theft.

3. Typically, employers have a right to inspecirtherkplace.




